Move Valve
|

(1 CPOSITION SMITCH-WALVE $23

INVOCATION:
£ APOSITION WALYE %3}

Y
o

CONTEXT: (! ¢= BEWITCH-TIME C¢CURREMT <TIMEX}2>

CAND CDELAY TWO-GOOD $DEL-2TES:
(DELAY OWE-GOOD $DEL-1TEX}

EFFECTS:
t6=> C(POSITION WALVE $x323

7k CTYPE TE $TELY
CSTATUS $TE1 FAILEDN:D

DOCUMENTATION:

"Thiz KA triesz to put the valve in pozition %,
[t waits {($del-Zthz! time units if the twa
zenzors are good, or ($del-1th} time units

if only one iz good,

After this time,. it shutdownz if the trusted
zengoris) is not in good position,

7 7 ik (TYPE TE $TEL»

“(STATUS $TEL FAILEDD )23

™ (4 (ELAFSED-TIME
@SUITCH-TIME $DEL-2TES)

(& (POSITION SEMSORL $w»
(POSITION SEMSORZ $x0
& (TYFPE TE $TE1}
(STATUS $TE1 FAILEDX 232

o 7 ok CTYPE TE $TEL»
I@l (STATUS $TEL FHILED)))

"k N (ASSOCIATED-TE $TEL $TEZ)
(ASSOCIATED-TE $TEZ $TEL)2
o CELAFSED-TIME
BSWITCH-TIME $DEL-1TE>
(POSITION $TEZ $Hrdad

Y
g

(7 (POSITION $TEZ $:0 [ArA

N

o7 7 & (TYPE TEB $TEL»
(STATUS $TE1 FAILED) )22

¢ G (POSITION SENSOR1 §;: €7 (% <& (POSITION SEMSORL i
(POSITION SEMSORZ $32330

(FOSITION SENSORZ X220

CPOSITION $TEZ $x122

¢! (SHUTDOWH <THO-SEMSORS $DEL-2TES))»

¢! <SHUTDOWH (TRUSTED $TEZ $DEL-1TEX 2>



